
Opora pam¥ti pro MECHcv

Derivace

Polynomy

f(x) = c, c je konstanta f ′(x) = 0
f(x) = xc, c je konstanta f ′(x) = cxc−1

speciáln¥ f(x) = x f ′(x) = 1

Mocniny, logaritmy

f(x) = cx, c > 0 f ′(x) = cx ln c
speciáln¥ f(x) = ex f ′(x) = ex

f(x) = loga x, a > 0, a 6= 1 f ′(x) = 1
x ln a

speciáln¥ f(x) = lnx f ′(x) = 1
x

Goniometrické funkce

f(x) = sinx f ′(x) = cosx
f(x) = cosx f ′(x) = − sinx
f(x) = tanx f ′(x) = 1

cos2 x
f(x) = cotanx f ′(x) = − 1

sin2 x

Cyklometrické funkce

f(x) = arcsinx f ′(x) = 1√
1−x2

f(x) = arccosx f ′(x) = −1√
1−x2

f(x) = arctanx f ′(x) = 1
1+x2

f(x) = arccotanx f ′(x) = −1
1+x2

Hyperbolické funkce

f(x) = sinhx f ′(x) = coshx
f(x) = coshx f ′(x) = sinhx
f(x) = tanhx f ′(x) = 1

cosh2 x
f(x) = cothx, x 6= 0 f ′(x) = −1

sinh2 x

Hyperbolometrické funkce

f(x) = argsinhx f ′(x) = 1√
1+x2

f(x) = argcoshx, x > 1 f ′(x) = 1√
x2−1

f(x) = argthgx, |x| < 1 f ′(x) = 1
1−x2

f(x) = argcothx, |x| > 1 f ′(x) = 1
1−x2

N¥které primitivní funkce

´
xndx = xn+1

n+1 + C, n 6= −1´
1
xdx = ln |x|+ C, x 6= 0´
axdx = ax

ln a + C, a > 0
speciáln¥

´
exdx = ex + C´

sinxdx = − cosx+ C,
´
cos xdx = sinx+ C´

1
sin2 x

dx = −cotanx+ C, x 6= nπ´
1

cos2 xdx = tanx+ C, x 6= nπ + π
2´

1
1+x2 dx = arctanx+ C = −arccotanx+K´

1√
1−x2

dx = arcsinx+ C = − arccosx+K´
sinh xdx = coshx+ C

1


